&) EL B w1vO 78 D) 47
(&) wpwmder
(B) Chef:banquet
© Legislator : election
(D) Moderator : debate
7 Arrange the following words as per order in the
dictionary
(i) Ambitious (iiy Ambiguous
e(iii) Ambiguity (iv) Animation
{w) Animals
(A) (i), (i3), (iv). (i) (v) (B) (id), (i), (v}, (v}, (3)
SO) (i), (i), (), (V). (V) (D) (), (i), (i), (v )
Direction: Inquestions No. 8 to 11, find the odd word/

number/ letters/ number pair from the given alternatives.
8. (A) JR}IQD (B UNG (O M [F (D) BSLE
N i - : ) i\ T . L

9. (A) Zinc S (B) Bronze
Q) Sil'u;_fr D)  Platinum

5] Wit I 5T 53

0. (A} MORV' @ CEHL

-G EE.‘*&T = D) JLOS,

% M . s

11. (A) 272 B 210 (&) 20 (DY 34

12. Which one of the given responses would be a
meaningful order of the following continents in

sscending order of area ?

(1) South America (iiy Alnca
(iii) Europe (iv) Australia

(vy North America

(A) (i), (i), (v), (i), (iv) (B) (i), (v), (i) i), Giv) | 2
AO) () (), () @), (1) (D) (i), @, (v), (iv), (i)

16,

17.

18.

19.

= SPACE FOR rOUGH

AA 2013/ Page2

(&) 12

56
15. BEAG,DGCLFIEK, T .

(A)  HMIE @ HKGM
{.C!I‘ HGK] @ HKL
LOKE 1 .
(A E +~B B gy o ok
BIEN RS
g | 5 |13] -3
7 | | 16 =4
EEREE
(A) 3and(-2) B (—3) and (—2)
.-'!l I.J. _3 & :"-
I lj‘fﬂ_”‘.\_ and 2, D} (—3)and
17.4381,1512_,
Ay 375 B 468 (L) 00 MD) 193
5,11, 23,47, 95, 1
A 190 @ 191 © et D) 169
g 12 ©® 13
2. 129,38, 47, 1
) B 56 (© 52 (D) 58
WDRK |
222 K




r 18 written as KWQKAC], how can
E'be written 7

QRBKCNIG (B)  QNPGLIC

act DR+ In questions no. 26 and 27, from the given
atives select the word which cannot be formed using
etters of the given word,

SPECIFICATION
4) FPAQFIC (B} FACTION
€] FAINTING @ TONIC
27. COURAGEOUS
#A) SECURE @) ARGUE
(C) COURSE (D)  GRACE

i'_fHEr"-'LTi_H written as TEAM, then BALE is written
as:
)
©
ﬁ?ﬂﬂﬂﬁ +°, ' means " x","
‘S"means ', then :
44Q9R1256Q4F 16="

ELAB (B)
EBLA A1)

EABL
EALB

R means’ <" and

(13 URTKPMNG
2~

N Sh ey
t&fi‘ + S LN {E;'
O —and + o) '
33.  Adirection pole was situated on the Road Crossing,

Due o an accident, the pole turned in such a manner
that the pointer which was showing East, started

+ and —
+ and *

24,

L_ showing South, Sita, a traveller went to the wrong |

=% direction thinking it to be West, In what direction | 25-

actually she was travelling ?

(A)  North B  West
(C)  East A1)  South
| e
34, If — stands for addition , = for multiplication, o
* tor substraction, and + for division, then which R
ot the following is correct ? '
26,
(A) BRI2-14%4+6=16
B B-12+14+2x4=15
(Cy 25=15 ll :!--i_;lx*éﬁ-—_-i a7
D) 235+11-4+10x6=20
Y @y S
35. U WATER s wnttenas YCVGT, then what is w ritten
as HKTG ? 28
(o) IRFE Y8 FIRE (O REFlI O} ERE
36, Ramcycled 10 km southward from his home tyrmed
f|,|_-r.|'|t and cycled 6 km. turned [i_l_tlht C-.r.,‘-h__-.d 10 km,
turned left and cycled 15 km. How many km will he c

have cycled to reach straight home ?

(A) 10km ~AB)  21km
B 129~ 25 O 112 (© l6km @)  20km
s SPACE FOR ROUGH WORK e
“ 1% % g |0
<12 =24\
Hi x4 12 j'i.
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Pm "". 1t did not assure the

- fundamental rights.
(A)  Only conclusion I follows
(B)  Onlyconclusion I follows

' (C)  Bothconclusions 1 and I follows

.' D)  Noneof them

E.; A c::the which is painted red on the outer surface is
of 2 inches height, 2inches wide and 2 inches across.
If it is cut into ane-inch cubes as shown by dotted

lines, indicate the number of cubes which are red on
two sides ?

M

s 8 B 0 g 4
Four position of dice are given bejow
will be oppositeto D ? e
Question figures ;

@

(L) 6

Which letter

N

LLL

.....
!

ela
L5 L

rectangle represents persons havin gﬂfﬁa Ein'ﬂ%‘?‘
region whempemmhaumgcm,m%mﬂﬁ |

but not Autorickshaw
|

) I'.\'L L%-. ';ﬂ'ﬂ\'
I e 3o
| s ""'._l

R Uy Wy

“-q.]"I:l- - G

| 5 S
A X B U © ¥ O W

Direction : In questions no, 43 and 44, study the following
diagram carefully and answer the questions based on it.

v ,
Marathi/ 105 ' English

170 4L 180 |
175 | | ‘q‘ v
i) TR b E" o
B 0%
) J ‘?E;_{E
| I.u'uh . 11—

43. The diagram shows the survey on a sample of
1000 persons with reference to their knowledge of
English, Hindi and Marathi. 105 people know

___ languages.

/é 0, (A) Marathi, Hindi
.‘ (B)  English, Hindi
ol 10 iC)  Marathi, English
D ~ A (© B O c {indi, Marathi, Englist
= {D] Hindi, Marathi, Enghish

P t

SPACE FOR ROUGH WORK
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(A) (B) C)

7. From the given answer figures, select the one in
which the question Higure is hidden/embedded.
Question figure:

19.

o2, B0 | | 5 1Q
LIN] [FIO[F[STRIT]

A piece of paper is folded and punched as shown
helmwm the question figures. From the given answer 16
figures, indicate how it will appear when opened,
Question figures;

Answer figures :

T [ _ ; |
‘ o .:1':|_.:, IH ||IETD|]|
| Ve o | L o] © o | Iii] |

AA) (B) (<€) (D)
If a mirror is placed on the lime XY then which of the
answer figures is the right image of the given figure ?
Question figure : :

&

| |
| %]
Lo bl W
(C)

S

B/ ‘
¥ |
|

)

SPACE FOR ROUGH WORK
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with United Kingdom against Germany
nane, it was neutraj

with Germany against United Kingdom

(D)
3% Over use of resource jo called

Commons”. It was propounded by .

(A) Aljﬂlph 'i'*'r".-'lgﬂl:‘]" (B) AP Lerner
(C)  Garett Hardin

“Tragedy of

(D) Seligman
36.  Theanimal that do ot develop hypertension ine pite
of heavy intake of <alt is;
(A)  Tiger (B)  Camel
«(C)  Sheep (D)  Buffallo

57. Which one of the following hormin
“Emergency Hormone” 2

~(A4)  Vasopressin
(©Q  Adrenaline

18 15 l'.'I“l'Ll
(B)
(L)
Who discovered electromagnetic nature
| Maxwell (B)
Snell (1)

Insulin

Thyroxine

of light ?
Young
Newton

to be from Jurasic

o @

b,

b7,

" Bahadurgar,

64,

Time pf EXPosure required for taking photograph of e
M Object depends upon the

(A) Proximity of object |
(B} sizeof the object

(©)  brightriess of the object
(D) skill of photographey
55.
Plantation of irees on a large scale to check soi]
Erosion are called
A} Strip crop ping
{B) Afforestation
(C)  Shelter beits 56,
(D) Contour ploughing
Lhe highest altitade (4417 meters above sea level)is
of o7
(A) h.-.lll'unmr‘n.!-::."-.;il'['--.n'l
(8)  Bangda Airport
(€} Daochengy ading Airpor
([} Heathrow Alrpor
58
Persistence of vision is the I"'rinrl;:r]u behind
(A)  Periscope (B) Came ra
(C)  Binocular (L) Cinema
59
Ihe First India-Africa Foryp, SUmmit was held
during 2008 at :
(A)  Bangalore * (B)  Addis Ababa
(C) New Delhi D)  Tapa



e of an inferior good, the income elasticity
(B)  Positive
P ©  Zero (D)  Negative
- 72 salalis the hydro power project in
' (A) Himachal Pradesh
.. (B)  Punjab
(O Haryana
(D)  Jammu and Kashmir
73.  Some of the ingredients required for bread makin T4
are: :
(A)  Maida and Baking Soda
(B) Maidaand Ghee
(C) Maida and Yeast
<) Maida and Baking Powder
74.  Nitrogen is an essential constituent of all -
w Vitamins '[-EJ' Ed.l'hl_'lh'pdrﬂtﬂb
© Fats (D) Proteins

Lord Clive’s repart
(©)  Simon Commission
@} Lord Curzon Commission
|
79.  What is ‘Milindapanha' 7 I!
(A) A Buddhist Specimen of Art
(B) A Buddhist text
(€) A Buddhist place
() One of the names of Buddha
80.  In which year the planning commission was
set-up ?
[A) 1952 (B) 1949
W) 1950 D) 1957
81. ‘Which of the fﬁlluwing 15 protected under Wild life
(Protection) Act, 19727
(A} Bandicootrat (B)  Squirrel
(C) Porcupine iy Gerbil
82,  During Quit India Movement, Parallel Government’
was constituted at;
(A)  Lucknow (B)  Ballia
[L-_] Varanasi I[D‘::I -I""I."ﬂhﬂbﬂl.i
§3. Anexampleof protein which acts as a hormone is :
(A) Keratin (B)  Casein
@ Trypsin D) Oxytocin
g4, A NOT galecan be implemented by :
(A) single resistor — (B)  asingle transistor
o a single diode D) two diodes

72

=



91.

(©)

Foreign Investment

Which was the first super computer purchased by
India for medium range weather forecasting ?

(A) CDCCyber930-11
(B) FParam

(C) Cray XMP-14

@ Medha-930

.”'h" fat of a COIMUmMIT IMiLSS ceTetes a sHi k.1 }',Li'n-

that can be used tomake heart implants. The unigque

chemical compound present in the glue is

(A) Phenyl alanine

(B) Dihydroxy phenyl alanine
{7  Amino phenyl alanine
(D)  Hydroxy phenyl alanine

The layer of the 3 tmosphere in which Radio Waves

] back 15 called ;

are reflech
(A) bira lnhpi e )  Exosphere
[iomd J‘iplh-rl— ﬂ-}} Tr JRIRE I'-'|“I1.‘I‘L-'

AA 2013/Pagel®

-

96.

Y,

a4y

100,

“Rul - 2T ] 3
nm ==l - { Rl i1y R LAy
politics mam i ‘m.',f%“’d from the
ma{:
(A)  MittRomniey
{H} -':il.E'. vﬂﬂm}w ﬂ*
() Pranab Mukherjee 1
(D)  Barack Obama .
- ;
Judges of the district courts are appointed by ;
(A)  Law Minister (B  President
*I-*CI Laovernor (M Chief Minister e
Who won the “World Youth Chess Championship
20122
(A) ScottFlemming (B) M. Mahalakshmi
(O N Privanka () KimiRaikkonen
Who can lmpose reasonable restrictions over
fundamental rights |
I."l.l II"-":_"!I.
By Cabinet
I i ! ._-||r|x|||:-r “imshers
A Parliament
[ e puLi |‘|i 2T 1 [ L (RLE] nmlh. released duri 12 AIines
menstrual cycle is
ay 1 (B 4 [, 54 T oy 2
Of the following in which did Napoleonic France
sutfer final defeat !
(A) Battle ol Pyramids
(B) Battle of Austerhite
() Battled! Frafalgar |
i Hattle of Wigram




B T
) T40

5. ‘#'.:J';-j verage age of 14 girls and their teacher's age is
15 years. If the teacher's age is excluded, the average

R

teduces by 1. What is the teacher’s age ?

MY 2years ®)
(©  32years 4

Three sides of a triangular field are of length 15 m,
20 m and 25 m long respectively. Find the cost of
sowing seeds in the field at the rate of 5 rupees per
S M.

(A)

07. A man standing in one corner of a square foothall
- field observes that the angle subtended byapolein

the corner just diagonally Oppesite to this corner i
6. Whenhe retires B0 m from the corner, along the
same straight line, he finds the angle to be 30°, The
length of the field, in m, js -

& 20 (B)

35 years

30 vears

750 B) 150 (O 300 O e0p

-IU'-.-"E

) 203

111.

113.

114,

The cost of many facture of an article was T 900. The

trader wants to gain 25% after giving a discount of
10%. The marked price should be - '

(A) ¥ 1000 B) T 1500
(©)  T1280 @) T 1200

ABC is an isosceles tria ngle with AB= AC. Acircle

through B touching AC at the middle point intersects
ABatP. Then AP: ABis:

(A) 3:5 (B 1:4 (© 4:1 @ 2:3

[f cosx+cos“x=1, the numerical value of
(sinlZy + 3sinx + 3sin®x +sinfx —1) is :

A 0 ® 1 B =1 | 2

Find the maximum number of trees which can be
]=Im1|‘vu.|. 20 metres apart, on the two sides of a
straight road 1760 metres long,

(4) 174 (B) 176 (& 180 (D) 178

InaAABC, ZA: £B: £C=2:3:4 AlineCD
drawn || to AB, then the £ ACDis;

A s B 200 © 4 D)

60"

SPACE FOR ROUGH WORK
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@)  51.4% approx.

117. - Hash=a+h+ .E'* then the value of 1244 is :

@ s ® 19 o 2w o 2

L ) (T=¥—z)—3, then thé value of
N !_i;!::.-—3y+{z 15 [ Assume that x, v, z are all real
r L .] m]:

Al 3 {B) 1]

@ 9 o 1

If the lengths of the sides of a triangle are in the ratio
Ii 4:5:6and the inradius of the triangle is 3 cm, then
the altitude of the triangle corresponding to the
largest side as base is - '

(A)  10em (BY Bcm
Q) 75cm ) 6em
120, The greatest common divisor of
333 334
' 35 +lﬂl‘ld3’3 -1 i5:
+1 (B) 2p
o 1

124,

Mohan Bets 3 marks for each correct sum and loses I-.
2 marks for each WTong sum. Hé-aﬂﬁﬂ‘-tp‘-'ﬁ'mw '

and obtains 40 marks. The number of sums solved
correctly is

(A) 25 ® 10 & 15y 20

A, B, Cwalk 1 km in 5 minutes, 8 minutes and
1) minutes respectively. C starts walking from a
PoInt, at a certain time, B starts from the same point
1 minute later and A starts from the same point

2 minutes later than C, Then A meets B and Cat
mes.

4

E min, 3 min

(A)  2min, 3 min (B)

() min, 2 min (D)

1 min, 2 min

e |

Each of the two circles of same radius 4 passes
through the centre of the other. If the circles cut each
other at the points A and Band O, O' be thejr Centres,
area of the quadrilateral AOBO js ;

.3 R
W gH By i
-
I['[:} ﬂ .']2 {D'] ﬂl
2
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PRI it - tand
A 'tﬂ B tand

S e Y o Y o Y
e 5

)

[
. 3. Ha+b+c=0, then the value of

—

5
E,thmsinﬂﬁt'qualtﬂ:

(a’fb,hitf,f:_ﬂ'*'ﬂ e gl
C a b .|.L1‘--F-.' " c+a .3+I::]
15

(A) 9 B o0 < 8 D) -3

131, The carved surface area and the total surface ares of

a@ cylinder are in the ratio 1: 2. [f the total surface
area of theright cylinder is 616 cm?, then its volume
is:

(A)
©
132 Arvind purchased awrist watch with 30%
.~ onthelabelled price. He sld it with

. -ﬂtpﬁt&hﬂlﬂ.‘nﬂghr What w
S bt price 7

& ® s

1632 em?
1232 em?®

(B)
(D)

1078 cm3
1848 cm?

discount
4% profit on
as his percent loss on

e 2 My 6

136.

137,

138.

1
Ifa, hrfarennn-mu,a+é— =land b+ E =1, then

the value of abc is -

&) =3 m 1 B8 =1 D 3

A sum of money is sufficient to pay A’ s wages for
21 daysand B's wages for 28 days. The same money 1
is sufficient to pay the wages of both for

1
(A) 24 — days (B} 12davs
1
€ 12 n days (D) 14 days ]

Two pipes, P and Q can fill a cistern i 17 and 15
minutes respectively. If both are openeg together
and at the end of 3 minutes, the first is closed, how
much longer will the cistern take to fil] 7

1 3

(A) 8 1 minutes (B) B 4 minutes
1

() Gminutes B 8 = minyges

SPACE FOR ROUGH WORK
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© 775087

142, Ifa’+1=a, then the value of 212+ a6 41 is:
A 2 @ 3 © -3 @ 1
NN

143, Takingany three of the line segments out of segments
- oflength2 em, 3em, 5 cm and 6 em, the number of
triangles that can be formed is :

B m: © 3 O 2

144. Theadjoining diagram is freq uency polygon for the
scares of students in a test. What is the total number
of students appeared in the test 7

Er o o o
m-l s
| Ve
4 T ..il_lu
. 35] v, y
| 30 7 5, o
e
fﬂ{ / e~
ki = 3‘1' ;'l Fa
z j /
% 13 ¢
et
> m{
{
A . ' ; ————r
ﬂ! 400 450 500 550 s00 £50 700 750 A0D k |
Soares —

150 & 150 D) 200

ilk jl-?;:llth drink company prepares the drinks of
1] veerent flavours P, Q, R. The production of
h AVOUTS over a period of six years has been expressed on

ar graph provided below, Study the graph and answer
the questions from 146 to 150

| (Production of 3 diff. flavouss of health drinks of a company |
6 vears in Lakh bottles)

S e — |
FEB QO Ri__|‘
55

&0 i) il 6l &
s, 55 55 =
i 4 é E ' -]
i : _h-l :.- é' -_' (3l
: EWERE
3 :'.: .E:-i -:f ':'-E ;-'
," = = - =
[ E ' -_ : | = |_--f
= = = ] =
“HERERENE
: - W6 2T 2008 2009 2010

146, In which of the following years the Percentage of
. fall in production from the previoys VBaris

rise or or

maxinum for the flavour of Q ?

© 2007 D) 2009
-

B -

—-—-"'?
SPACE FOR ROUGH WOR
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!.?i 1 ] Ty i e _ u
ol abicieto Bt rofitol 20%. Bsels
A profitof 25y, for it, the cost
(in € of - WCpays? 225 1
lhhkf"—'l!l’mﬁ % :
(A) a7 ® 21 © 12 o 125
hi 189 o .
ﬂ mi 14’“- Ihl:' I:fl"tl.l:nl.-l' h-lmlll!“ l'“rﬂ tow TS tq HH' km ‘a g
sarts from the first town with a apuw._l ol
-'i!”-”’f" hr. At !F"l"-.ll'lh‘llnw, aniother car starts from
the second town with a speed of 50 km/hr. The
145. If a+ b+ S P=Vand {a+ bh+ () p=(b+c—a) LI""‘””“'“” km) of the point where they meet from
|i'|l‘|:IT:-I.II.'-|.- nis
| I | |
q=*+a—-bjr=fa+b~-cls then Free (AY 500 (B 200
i I - o .
o ] W0 (T L0
A g : i 44 | e mean emperatun rom Monday to Wednesday
. wvas A and fraom ||.|"-\.|.--, tis ||:|_|[-..|_|'_ s A%
) ! Il thee ty iperature om | hursdavy was /5 th that of
o I nlay, thie b l'l-i'l'.‘.|'||||l'-':l |!:||I il
| 1 |II i
| I
;"ﬁ- 'Jl-i”..l'n‘“ iN aricle for T 1id) s o )
discounts of 20% and i
fepars and sells at a profit of 2 Ng Prici . \ .
of the article js | 150 \ rat lakes 5 leaps for ILIII: e it but
-._:1-_|=n.|'f Ilhlllll_“.l_-tl..ll.'.!l b <} |y aps of the il I'll'uh.ﬂ
ig the rabio ol t|||"-|'1'l'~| the rat 1o that oy ths ¢ \t?
{A) T 17258 (B) T 2030 :
(A} 15:16 B)  11:15
f(_j f Jhﬁ” iI_}j ? If'l'Jll i) [."1 |] || H |I|. | i

SPACE FOR ROUGH WORK ~—
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w AR = r—'i| 'J

W
INwrd = v FR

agistrate profusely /

HEAPDY o forgive j'm-."r
IIIIIE

© alitle,  faye little, a little

(D)

158. Pl ;
Pleasg Write tome this address. 166.
=~1A) by (B) 0Tl
() upen (D) at
15 <
9. On rlll;*:-:-'iﬂ_'r' it's the carnival, — —"Ivtlr?hﬂd}* Di
gets ttr:'_‘:-'.!-;ud upin a fancy costume. So we will meet ATE
ﬁt. lohn's house, - is about a couple of Ch
kilo MEmres away, . of
';:"} '|.'|.'|1|Z'I'|. '..'..-|11_a|1- WA 1,1'|1|_'1'|., W |'t:IL'|'I 16
(L) which, where (TH where, when
160,

| hate him for the simple reason that he ke

‘Ps Singing
his W F'.;.'In ¢

- ses continually talking about himself], 1f
e 15 ' |

= L1I1.||[[f.II|||E'I Heis a rizal

because for anything he does he alwavys expects

Hi I:n--llllll;.', L return, a seitish person indeed

() |'-.',r.|r.~-l.."«iumullln--}n-
(H) Egotist, Egoist
() Poser, Misanthrope
(1) Moser, Epotist

Directions : In questions no. 161 to 163 o
alternatives, choose the one which best ,
mearning of the given word and mark it in the

*XPresses the

Answer g 1eet,

161. [nsolent
(A) depreciating
(B) thesoleofashoe
(€ disrespectful
insoluble

D)




apprentices

@  professional
hidden B)  culvert
© open D) complete

Directions : In questions no. 167 to 171, four alternatives
are given for the Idiom', Phrase underlined in the sentence.
Choose the alternative which best expresses the meamng
of the Idiom\ Phrase and mark it in the Answer Sheet,

167. He is leaving the USA for good
~{A) temporarily (B) immediately
() urgently (D)  permanently
168. Communicative English 1s the Achilles’ heel for the
job aspirants.
(A) what they cherish most
(B) top priority
{0 weakspol
Jb)  sourceof strength
et.

169. Heis known for blowing his own rump
(A) clamouring (B)  boasting
(@ clattering (D) shouting

170. He cut the Gordian knot by pré
preached

cticing what he

AA) remﬂ‘-' od the difficulty
| ﬂ ~add to the difficulty
L) od the difficulty
i g.l.'- let the difficulty remain as it was

173, The starving and crawling people in the television
programme looked more like beasts than tiring
creatures. ;

~A)  posed (B} resembled
{C)  seemed D} Noimprovement

174. Five vears ago today, | am sitting ina small Japanese

car, driving across Foland towarcds Berlin.

._“,l{.'"'.'l
1) have been sitting  ([)

was sitting (B} sat
Noimprovement

He could not Jeok anything in the dark room.

(A} lookat D) see
((y  seathrough Dy Noimprovement

175,

N one could explain how a calm and balanced
person like him could penetrate such a mindless act
on his friends.

{A) p..*rp-:matu
() precipitate {

176.

(B} perpetrate
No impmvemem

They |eft the hotel by car where they had been

staying

(4) They left the hotel where they had been
staving by car

17

(B) They lett where they were staying in a hotel
Oy car.

(€} Inacarthey left where they were staying ina
hotel

(B) No improvement

22 KN 6




peak with authority on the
: sance must have a broad
with the writers of classical

g s

@ Aol
(@  Anyonedesirous for speaking
Noimprovement

T - 2In q:uE:tl:inns no. 182 to 188, out of the four
native choose the one which can be substituted for
‘the given words/sentences and indicate it by blackening
ham oval [-] m the Answer Shect.
182 The production of raw silk
. (A) sariculture (Bj
- Q) seniculture )

syrumculture

seroculture

153, Fi_!ﬁ!i:im.ﬁan-nnrunnu».r'nril-un»- undue favour to
(A) dualism
(C)  pluralism

(R) polarism

(L)  nepolism

184. A personwho helps even a stranger in difficulty,
{A) philanthropist (B)
() samarntan (D)

benehiciary

altrujst

185, A personwho readily believes others,
(A) Sensifive (B)  Sensible
f“:] {_'.'T'Ediblt' [D] {-ft."dLJJULls

AA 2013/ Page

189. (A)
() hetrogenous ) heterogineous
©  perjary Dy perjury

Directions : [n questions no, 191 to 200, you have two
passages with 5 questions in each passage. Read the
passages caretully and choose the best answer to each
question out of the four alternatives and mark it by
blackening the appropriate oval [@®] in the Answer Sheet,
PASSAGE- [ (Ques. No. 191 to 195)

I'he Bengal Renaissance refers to a social reform
movement during the nineteenth and early twentieth
centuries in the region of Bengal in Undivided India during
the period of British rule. The Bengal renaissance can be
said to have started with Raja Ram Mohan Roy
(1775 - 1833) and ended with Rabindranath Fagore
(1861 - 1941), although there have been many stalwarts
therealien p[]'l_i_'l{:ﬂ.'.l.\'i]'lﬁ E"‘-'lrli'- ular aspects of the un :
intellectual and creative output. Nineteenth century, Bengal

'.II'Ii.'..|“-“' blend of I‘{‘Elﬁlllllh and social |'l'rl.'|1'|'|:"||._";|"«1
scholars, literary giants, journalists, patriotic orators and
scientists, all merging to form the image of a renajssance
EJFI‘-\.'L'lj the transition from the ;H'Il'-i.tli.."l.-"]_[' by H‘H;

lijue

Wwas d

and n
1 e I'Il

[uring this period, Bengal witnessed
awakening that 18 In S50ME Way similar to the |_-:I_:I1'1.'l}'l|_'.1!"|
Renaissance during the 16th century, althowg]
of that age -n'|7~|'1_' nit L'l:.]nflliulﬂhd.?w". the '-I'I-IHEHHD g
influence of alien -.I'ul_unmh_'a!nL -Ilh I.“;]T |.?:|1.‘|L*I‘|I questioned
t'h|:-.t||'|gLrl'tt'u.'".li!-"ﬂ'-‘fu particularly with respecy e

aninte]lectual

' Europeans
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unscientific
disputable

indigenous

193. The Bengal Renaissance was different from the 16t
century European Renaissance because :

(A)
(B)

©
e

The Bengal Renaissance was an essentially
Hindu Movement

Unlike the Bengalis, Europeans were not
under foreign rule

Europeans did not have the dowry svstem.

Raja Rammohan Roy and Tagore were not
born in the 16th century

1% T]‘I-EE-E‘HE.&' Ht‘ﬁ-.'l'l'ﬁ".*ﬁﬂ-.'l";_‘l.ﬂ|'|-'I'|:"-_| MCMmEn T m the
19th century because :

(A)
()

©
)

the Brahmo Sama) was formed

Raja Rammohan Koy and Tagore lived at thal
time.

the British had colonised India

there was an abundance of intellectual and
creative activities in Bengal then.

195. The Bengal Renaissance movement |

wanted to overthrow colonialism

wanted to propagate Brahmoism

wanted social reform to improve the lot of the
IWEak and the downtrodden

none of the above

197.

198,

199,

200,

mfﬂm‘-‘fﬂ'ﬂfimnp’i&hj&

Rehmat Aliis most likely ;

(A) anight watchman
(B) ajogger

(C)  aburglar

@  apoliceman

“There are circumstances in which the least energetic
of mankind learn to act with speed and decision,
and the most cautious forget their care’. Rehmat
illustrates this by:

(A)  turning into a lane

(B)  jumpinginto the garden

()  runningaway from his pursuers
(D3} [ -»!u{:pin]_', dead

. __ 1
What kind of a person was Rehmat Ali originally -

(A} reflective mnature
(B bold and decisive
L) slow and steady

(D} lazyand indecisive

Rehmat Ali found himself hidden from his pursuers

because

(A)  hehad stoppedd ead

@ he had acted with speed and decision
() he had gone around an unexpected bend
([ his pursuers could not run fast enough

-;1{]1.1'—
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